Pass Test

Bessere Qualitat , bessere Dienstleistungen!

http://www.passtest.de

Einjahrige kostenlose Aktualisierung



http://www.passtest.de/

The safer , easier way to help you pass any IT exams.

Exam . 642-427

Title . Troubleshooting Cisco
Unified Communications
v8.0 (TVOICE v8.0)

Version : DEMO

1/19



The safer , easier way to help you pass any IT exams.

1.Where does an IP phone obtain the extension number and speed-dial settings from?

A. the settings that are configured on the physical phone

B. the registration file that the phone receives from the Cisco Unified Communications Manager

C. the device and line configuration in Cisco Unified Communications Manager, during the registration
process

D. the default device profile that is configured in Cisco Unified Communications, Manager

Answer: C

Explanation:

When we configure IP phone profile in CUCM that time we also configure extension number and speed
dial as per requirement. When IP reachability gets establish between IP phone and CUCM then phone will
download config file from CUCM during initial registration process.

Link: http://www.cisco.com/en/US/docs/voice_ip_comm/cucm/admin/3_1_2/ccmcfg/b06phone.html

2.Which web-based application that is accessed via the Cisco Unified Communications Manager
Administration GUI generates reports for troubleshooting or inspecting cluster data?

A. Cisco Unified Serviceability alarms

B. Cisco Unified RTMT Trace and Log Central

C. Cisco Unified RTMT Monitor

D. Cisco Unified Reporting tool

Answer: D

3.Which statement about device mobility is true?

A. When local route groups are used, there is no need to configure device mobility groups orphone device
CSSs as long as phone line CSSs are used.

B. When local route groups are used, you must configure device mobility groups and phone device CSSs.
C. When the device mobility group at the home device pool and roaming device pool are not the same,
the Phone will keep the home region.

D. When device mobility groups at the home device pool and roaming device pool are the same, the
phone will keep the home MRGL setting.

Answer: A

4 Refer to the SDI trace in the exhibit A PSTN call arrived at the MGCP gateway that is shown in the SDI
trace.
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1A
Search: | | | _Find_|
18:04:04.866 HOR|03/23/2010 CCM, StandkloneCluster,10.1.5.10,Detailed, 8.0.1.10000-40 %~%~=*
18:04:04.8686 |<--SDIControlBase::Init(3edlbal) |*~*~%*
18:04:04.878 |dBProcs - setPkid0fClusterId() starta|*~*~=*
12:04:04.879 |getlClusterPkId to as2T783ck-09687-4fc7-ald0-28108bEL36T0a | ¥ ~% %
18:04:04.879 |dBProca::configSdllinks() [*~*~*
12:04:04.879 |configCHAC: 10.1.5.10 already in CHAC|*~%~%
18:04:08.346 |MECFHandler receiwved msy from: 10.1.5.1
NIFY 5406634 *@HQ MGCP 0.1
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32 |*A*A*
18:04:13.618
|*h*ﬂ*

18:04:13.618
|*A*A*

18:04:13.618
11

[

11,100,149,1.

11,100,149,1.

1.1640~10.1.5.

, 100,150, 1.

80 31 34 30 38

7888~10.1.5.1~*
| <Mz :MEGCPEndPoint <MV s *@HQ>| 1,100,149, 1. TEE8~*~*
|MEGCPHandler send mag SUCCESSFULLY to: 10.1.5.1

7888~10.1.5.1~+*

| MGCPManager remove recent Incoming transId 5406633(1,100,149,1.7884~10.1.5.1~%*
| MGCPEBhHandler 10.1.5.1 - TCP mag available from Device|l1l,100,150,

1A*

| MGCPFEhHandler - Receiving BhHdr: 0004 0000 0011 2000 0001 Q030

160~10.1.5.1~%

| |*A*n*

| In
|Ie -
[Ie -
[Ie -
| Ie

Message —-- PriEurcSetupMsg -- Protocol= PriEurcProtocol|*~%~#
WiZBearerClapabilityIe -- IEData= 04 03 B0 90 L3
Q@931ChannelIdles -- IEData= 18 03 4% 83 &1
Q931Progresslndle —- IEData= 1E 02 81 B3

Q931CallingPartyle -- IEDate= &C 0D 11 80 31 34 30 38 37 30 37 31 32 32

|*A*A*
|*A*A*

|*A*A*

|Ie IEData= 70 0OC B1 38 39 35 33 31 32 31 32 30 30 31

0931CalledPartyie --

|MMan Id= 0. (iep= 0 dsl= 2000 sapi= 0 ces= 0 IpAddr=105010a IpPort=2427)

| IadnM=ghatal= 08 02 00 98 05 04 03 80 90 A3 18 03 A% 83 81 1E 02 81 83 &C 0D

37 30
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37 31 32 32 32 70 0OC 281 38 39 35 33 =1 32 31 32 30 30 31 [Hnkes

18:04:13.6818 |MGCPpnod: :getPrilNizBearCapFromPriSetup - tsp.protocol: s,
tap.gclearenakled:0|1,100,150,1.160~10,1.5.1~%*

18:04:13.618 |MGECPpnod: :processPriSetup - viprlgpnElé&d=[14087071222],
viprCdpnEl64=[59531212001], vcrUplocadileeded=[t]|1,100,150,1.160~10.1.5.1~*

18:04:13.619 |SPROCPri::glokalizelncomingCopn - Adding prefix: 4+, Digits to strip: 2,

Cgpn Transformation C55: 67303531-8720-702e-T7740-2c997fb15fac|* %%

18:04:13.619 |SPROC :: stripAndPreperdDigits- The numbker 087071222 i3 prepended with
prefix +, updated number=+08T7071222 | *~*~%

18:04:13.619 |SPROC DATransformMatclh - matchMumber [+087071222] transfcrmC35Pkid
[67303531-8720-T02e-7740

-2c897fbl5fec] transformationCss [HQ clng pty Pt] patternlUsage [13] paterntodeID
[SE5658804-1995-94c0-413d —e976£0d4870a4] OutpulsedNum.nd [087071222] tn [1] pi [1] npi [1]]
&k

18:04:13.619 |SPROCPri::globalizelncomingCgpn — Globalized Cgpn = 087071222 *~*~*
18:04:13.619 |SFROC getCtrlPid - callingNum=087071222, inputCtrlPid=(1,100,195, 1) [*~*~*
18:04:13.619 |DbMobility: getMatchedBEemDest starts: cnumber = 087071222 | *~%~%

18:04:13.619 |DkMobkility: getMatchedFemDest: full match case|#*~*~*

18:04:13.619 |CkMobkility: can't find remdest 087071222 in map|*~*~%

18:04:13.620 |MECPpn9d - initPortInfc:

portInfo[00] endpoint=30/300/D51-0/10HQ, ci=27173899, globalCallld=5091]1,100,133,52.1~%~=
18:04:13.6820 |SPROC analyzeMagtransCsuse MessageTransCause.ms = 0, MessageIlransCause.ieid =
0, PriTsp.protoccl = 9, MCStatus = 0| *~*~%

18:04:13.620 |5FROC analyzeMagtransCesuse MessageTransCause.ms = 0, MessageTransCause.ieid
0, PriTsp.protocol = 9, MCStatus = (| *~%a*

18:04:13.621 |S5PROCPri::glokalizelncomingCopn - Rdding prefix: 4, Digits to strip: 2, Cogpn
Tranaformation CS53: 67303531-8720-702e-7740-2c997fb]l5fec ¥4 %

18:04:13.621 |SPROC :: stripAndPreperdDigits- The numbker 087071222 is prepended with prefix
+, updated number=+08T7071222|*~*~*

18:04:13.621 |SPROC DATransformMatch - matchMumber [+087071222] transfcrmC35Pkid
[67303531-8720-T02e-T740 -2c897fbl5fec] transformationCss [HQ clng pty Pt] patternlsage [15]
paterntiodeID [Sb568804-1998-94c0-413d -e976£04870a4] OutpulsedNum.nd [087071222] tn [1] pi
[1] npi [1][#~%~=
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18:04:13.621 |SPROCPri::globalizelncomingCgpn - Globalized Cgpn = 087071222 | *~%n%
18:04:13.621 |Cdcc - (000009&) - storeDchanCrp - secure capability on side O is {1,1)
|1,100,150,1.160~10.1.5.1~*

15:04:13.6821 |Cdcc:ipreliminaryProcessCcSetupInd (00000946):
preclvwl=5]1,100,150,1.160~10.1.5.1%*

18:04:13.622 |Digit Analysis: star DaReq: daReq.partitionSearch3pace
(9c05blec-2fal-3181-008d-2331fad4acT4a), filteredPartition3earchipaceitring (Internal Ft),
partition3earchSpaceString (Internal Pt)|l1,100,150,1.160~10.1.5.1~%

18:04:13.622 |Digit Analysis: atar_DeReq: Matching Legacy Humeric,
digits=2001]1,1600,150,1.160~10.1.5.1~%

15:04:13.6822 |Digit Analysis: getDaBRes data: daRes.ssTlype=[0] Intercept

DEMR. s3type=[16777222], TPcount=[0], DAMR.NotifyCount=[1l], DaRes.NotifyCount=[0](|1,100,150,
1.160~10.1.5.1~%*

15:04:13.622 |Digit analysis: match{pi="2", fgcn="", cn="087071222",plw="35",
p3s="Internal Pt", TodFilteredFss="Internal Ft", dd="2001",dac="0")
|1,100,150,1.160~10.1.5.1~%*

18:04:13.622 |Digit analy=sis: analysis results|l,100,150,1.160~10.1.5.1"%
18:04:13.622 | |PretransformCallingPartyNumber=027071222
CallingPartyNumber=087071222

|DialingPartition=Internal Pt

|DialingPattern=2001

|FullyfualifiedCalledFartyNumber=+4959531212001
|DialingPatternBeqularExpression=(2001)

|DialingWhere=

|Patternlype=Enterprise

|BotentialMatches=NoPotentialMatchesExist

|DialingSdl1ProcessId=({0,0,0)

|PretransformDigitString=2001

|Pretransformlagslist=3SUBSCRIBER

|EretransformPositicnalMatchlist=2001

CollectedDigits=2001

|UnconsumedDigits=

| TagaLlist=SUBSCRIBER

|PositiocnalMatchList=2001

|VoiceMailbox=

|VoiceMailCallingSearchipace=Internal Pt
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|WolceMail PilotHumber=2000
|REouteBlockFlag=RouteThisPattern

| RouteBlockCause=0

|Alertinglame=

| UnicodeDisplavyliiame=
|DisplayNamelocale=1

| InterceptPartition=Internal Pt

| InterceptPattern=2001

| InterceptiWhere=

| Intercept3dlProcessId=(0,0,0)

| Intercept3aType=16T77222

| InterceptiskKey=0

| InterceptSalotifyType=1
|CwerlapSendingFlagEnabled=0
|WithTags=

|WithValues=
|CallingPartyNurkerPi=NotSelected

| ConnectedPartylunberPi=NotSelected
|CallingPartyNamePi=NotSelected
ConnectedPartyNamePi=NotSelected
CallManagerDeviceTlype=NoDeviceTIype
| PatternPrecedencelevel=Routine
CallakleEndPointName=[5k7ckb109-502
| PatternModeId=[5k7ck109-5028-2738-
| BABNeighbkorhood=[]
|BARDestinatiocnMask=[]

| BARKeepCallHistory=true

| BARVoiceMailEnabled=Ialse

| HetworkLocation=0nlet

| I

23-058clbk2clafi]
lb2clafa]

Calling Party Number Type=Cisco Unified CallManager
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|Calling Party Numbering Plan=Cisco Unified CallManager

Called Party Number Type=Cisco Unified CallManager

|Called Party Numbering Plan=Cisco Un_fied CallManager

| ProwvidefutsideDial tone=Ffalse

| Al lowDeviceldverride=£false

|AlternateMatches= Information Mot Awailable

|TranslationPatternbetails= Informaticon Mot &wailakle

|RegourcePriocrityNamespace=

| PatternBoutellass=RoutellassDefaulc|.,100,150,1.160~10.1.5.1*

18:04:13.622 |SMDMSharedData::findhkliasReglnfo - AliasName =
SbT7ckhl09-5028-2738-2123-058c1k2cl6f8 not in AliasInfc hashmapll,l100,150,1.160~10.1.5.1~%
18:04:13.622 |DeviceManager::3star_DmP:dReq -
BequestedName=5bTckl09-5028-2738-2123-058c1b2cl6f8 LockupName=5b7ckl109
-5028-2738-2123-058c1k2cl6£2(1,100,150,1.160~10.1.5.1~*

18:04:13.622 |SMOMSharedData::findLocallevice -
Hame=2001:79%5c8dc-dE47-cdl14-5647-b483ce070680 Key=0bTchkbl09-3028-
2738-21253-058clb2cl6fg ishctvie=l Pid=(1,154,9%) found|l1l,100,150,1.160~10.1.5.1"%*
13:04:13.623 |Digit analysis: wait [DmFidRes-
Partition=[79e5c8dc-d847-cdl4-5647-b483c60T0680] Pattern=[2001]

Where=[], cmDevicelype=[UserDevice], OutaideDialtone =[0], Devicelwverride=[0],
FID=LineControl(l,100,154,9)(1,100,150,1.160~10.1.5.1*

18:04:13.623 |processCCMFeatureData: operationleldd=0(1,100,150,1.160~10.1.5.1~%
18:04:13.623 |findUnfiredInterceptinPattern numdfPatterns = 101,100,150,1.160~10.1.5.1~%*
18:04:13.6823 |ForwardManager - findCallBy3sParty - mPartylciActivelalllndexMap entry HOT
found for party= 271738%% |1,100,150,1.160~10.1.5.1~%*

18:04:13.6823 |ForwardManager - findActivationEntryBvSsParty - mPartylclctivationIndexMap -
Entry NOT found for party= 2717389%(1,100,150,1.160~10.1.5.1~%*

18:04:13.623 |ForwardManager - addhct-wvelallTableEntry - Added entry for party= 27173899
callkey= 0Oxl1D|1,100,150,1.160~10.1.5.1"%

18:04:13.623 |Forwarding - Created! - callKey= 0x1D([1,100,177,29.1~%~%

18:04:13.624 |Forwarding - getInterceptlableEntry - Successfiul for nppkid
SbT7ckl09-5028-2738-2123- 058clk2clefs|1,100,150,1.160~10.1.5.1~*

18:04:13.624 |Forwarding - loglnterceptlableEntry
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{
callkey= 0x1D,

33Key = 0, recordStatus 0,
dnPattern = 2001, dnPartition = 79 e5c8dc-d847-cdl4d-5647-b483c6070680,
dnPartitionSearchSpace =

Blk intl Pt:5AF Pt:Internal Pt:HQ Local:HQ LD:HQ Intl:PSTH Pt,

cfa = , cfaToVM = 0, cfalsas = ,
cfb = , cfbTloVM = 1, ciklss =,
cftbkInt = , cfbkIntToWVM = 1, cfbkIntlss = ,
cina = , cinaloVM = 1, cfnalss = , cinalimer = 0,
cfnalnt = , cfnalntIoVM = 1, cfnalntlss = ,
cfur = , cfurToVM = 0, ciurlas = .
cfurlnt = , cfurlntIocVM = 0, cfurIntlss = ,
cfap = , cfapToVM = (0, cfapCss = , ciaplimer = 0,
ff = , pEfToVM = (0, pfiCas =,
ffInt = , pffIntToVM = 0, pfflIntlas = ,
ffCfna = 0, pfiCf =0,
fullyfualifiedDirectorylumberMask = ,
patternlsage = £,
ffCfnaFnabled = 0, pffCfkEnabled=0
}
|1,100,150,1.160~10.1.5.1~*
18:04:13.624 |Forwarding - awaitForwardInitiation_ SsInterceptInd - Hew CFAF deatination - :,

duration= 0, callHEey= 0x1D, internal-call=false, hunt-pilot= false|1,100,150,1.160~10.1.5.1~%
18:04:13.624 |Forwarding - sendExtendCallReq - callKey= 0x1D(|1,100,150,1.160~10.1.5.1~%
18:04:13.624 |Forwarding - registerBelRejlnterceptBequest - callKey=

0xiD|1,100,150,1.160~10.1.5.1"*

18:04:13.624 |Forwarding - unregisterBelRejlInterceptRequest - callEey=
0xiD|1,100,150,1.160~10.1.5.1"*

18:04:13.624 |Forwarding - registerBelRBe]jInterceptRequest - Begistered RelBe] Intercept-
party= 27173893, caellKey= 0Ox1D|1,100,150,1.160~10.1.5.1~%

18:04:13.624 |Forwarding - sendExtendCallFReq - Extended Call to party= 27173849,
call¥ey= 0x1D |1,100,150,1.160~10.1.5.1~%
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128:04:13.624 |add an entry into release intercept gqueus|l,100,150,1.160~10.1.5.1~%

18:04:13.624 |release intercept entry, 3s3Type = 18777222, s3Key = 29, handler =

27173%0111,100,150,1.160~10.1.5.1~%

12:04:13.624 |isItSafeTlcExtendCall dchanPid = (1 100 154 9)(1,100,150,1.160~10.1.5.1~%

15:04:13.6824 |findUnfiredInterceptinPattern numlfPatterns = 1/1,100,150,1.160~10.1.5.1"*

15:04:13.6825 |MECPHandler send msg SUCCESSFULLY to: 10.1.5.1

CRCX 317 S0/500/DS1-0/1@HQ MGCP 0.1

DO00a00001 %9ead40L000000F580000098

1

pr20, a:PCMO, 3:0ff, t:00

recvonly

D/ [0-9ABCD*4]

procesa, loop

|11,100,150,1.160~10.1.5.1~%*

15:04:13.6825 |Cdcc::sendCcSetupBeq: preclvl=5]1,100,150,1.160~10.1.5.1~%*

18:04:13.625 |ForwardManager - wait_3sDatalnd - Key= 0x0, party= 27173899,
CC=1/1,100,150,1.160~10.1.5.1~*

18:04:13.625 |ForwardManager - findCallBySsParty - Found entry for party= 27173899,

callkey= Ox1D |1,100,150,1.160~10.1.5.1"%

18:04:13.625 |ForwardManager - wait_5sDatalnd (SETUP) - mPartyTohctivelalllIndexMap Added

Entry for Destparty= 27173900, callkey= 0Oxl1D(1,100,150,1.160~10.1.5.1~%

15:04:13.6825 |LineControl{d) - 0 calls, 0 CiReq, busyIrigger=Z,

mexCall=4]1,100,150,1.160~10.1.5.1~*

18:04:13.625 |LineControl(9) - Get call instance=1 for CI=271739%00]1,100,150,1.160~10.1.5.1~%

18:04:13.625 |LineControl (9): restart0_Cc3etupReq update State of cdpc (82) to

receive7|1,100,150,1.160~10.1.5.1~%

18:04:13.626 |Forwarding - awaitingCallResponse 3sDatalnd - SETUP - Updating preclvl to

5|1,100,150,1.160~10.1.5.1~%

18:04:13.6268 |Lineldpc({22): -dispatchTolllDevices-, sigName=CcSetupRedq,

dewice=3EP0021R086BF0&|1,100,150,1.160~10.1.5.1~*

15:04:13.68268 |StationD - adding linestruct at index 1
|*A*A*

5

& MO

4

a2
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15:04:13.626 |StationD: {(0000007) DEBUG whatToDo: line=1 calls=0 limit=4, busay=2Z.
&CI=(1, 5091), PL=(5,0}.(1,100,150,1.160~10.1.5.1~%

18:04:13.626 |StaticonD: {(0000007) DEBUG whatTolo: busy trigger not hit... send to open
appearance|1,100,150,1.160~10.1.5.1~%

18:04:13.628 |StaticonD: {0000007) DEBUG- getlineRingSetting:
retvVal=4.1,100,150,1.160~10.1.5.1"%

15:04:13.626 |StationD: {(0000007) DEBUG- saveRinger for: ci=27173900, line=1l, mode=3,
precedence=5, callPhase=5.11,100,150,1.160~10.1.5.1~%*

15:04:13.626 |StationD: {(0000007) DEBUG- saveRinger: ci=27173900, line=1, mode=3,
precedence=5, callPhase=5, modifier=0|1,100,150,1.1&60~10.1.5.1~%

123:04:13.626 |StationD: {0000007) INFO sendCallleceptBeq: Try to send
StationlineCalliccept to cdpe=78 .|1,100,150,1.160+10.1.5.1~%

12:04:13.626 |StationD: {0000007) playBRinger for: ci=27173900.]1,100,150,1.160~10.1.5.1~%
18:04:13.6268 |StaticonD: (0000007) LEBUG- getLinsRingSetting:
retvVal=4.1,100,150,1.160~10.1.5.1"%

18:04:13.6826 |StationD: (0000007) LEBUG- getLinsRingSetting:
retvVal=4.1,100,150,1.160~10.1.5.1"%

18:04:13.6268 |StaticonD: (0000007) LEBUG- getLinsRingSetting:
retvVal=4.11,100,150,1.160~10.1.5.1"%

15:04:13.626 |RegionasServer::MatchCapabilities -- kbps=64, capfCount=14, capBCount=12|#%*~*~%

18:04:13.626 |Locationa_ reserveBandwidth —- cdecPID=(1.194.98) Orig=0=Dest=0 no need to
reserve bW, | ®o%ak

18:04:13.627 |StaticonD: (0000007) DEBUG- astar_ DSetCallState(0) State of cdpc(78) is
0.11,100,51,78,1~%~*
15:04:13.627 |StationD: (0000007) DEBUG- star D3etCall3tate(d) 3Jtate of cdpc(78) is

0./1,100,150,1.160~10.1.5.1~%*

18:04:13.6827 | LocalizeCgpnindSendiutpul sediumber: StationCdpc on device SEPO0OZ21R0Z&BEOG
C35 = ,useDevicePoolCgpnCss =1 Alternatelgpn {glokal)=087071222
cgpn=087071222(1,100,150,1.160~10.1.5.1~%

18:04:13.627 |Staticonldpc: CcSetupheqg - unicodelonnectedUnicodelisplaylame=""
aaciiConnectedDisplayName=""|1,100,150,1.160~10.1.5.1"*

15:04:13.6827 |StationCdpc: CcletupReq - unicodeCallingPartyName='"' asciiCallingPartyName=""
callingParty="08T7071222" unicodelalledPartyName="" a3ciiCalledPartyName=""

calledParty="2001" cglP=Ipkddr.type:0 ipv4Rddr:0x0a010501({10.1.5.1)
|1,100,150,1.160~10.1.5.1~%

18:04:13.627 |StaticnD: (0000007) DEBUG- astar_ DSetCallState(0) State of cdpc(78) is
2.11,100,150,1.160~10.1.5.1~%

15:04:13.6827 |StaticonD: {0000007) CallState callitate=4 linelnstance=l
callReference=27173900 privacy=0 precedencelv=4 precedencelm=0]1,100,150,1.160~10.1.5.1~*
15:04:13.628 |StationD: {(0000007) SelectiocftEeys instance=]l reference=27173300
softEeyietIndex=3 valid¥eyMask=ffffffff.|1,100,150,1.160~10.1.5.1~%*

15:04:13.6828 |StationD: {0000007) DisplayPromptStatus timeOut=0 Status="{087071222"

content="From 087171222" line=]1 CI=271735900 wver=857200131~%

10/19



The safer , easier way to help you pass any IT exams.

15:04:13.628 |StationD: (0000007) DisplayPriMotify timelutWalue=10 pri=5
notify="J{087071222" content='"From 087071222' ver=85720013.11,100,150,1.160~10.1.5.1~*
13:04:13.628 |StationD: {000oo07y (1,100,9,45) CalllInfo callingPartyNane=""

b ] oy

callingParty=087071222 cgpnVoiceMailbkox= alternatelallingParty= 087071222 calledPartyName="'"
calledParty=2001 cdpnVoiceMailbox= criginalfalledPartyName="" criginalCalledParty=2001
criginalCdpnVoiceMailbox= coriginalCdpnBedirectBeason=0 lastRedirectingPartyName=""
lastRedirectingarty=2001 lastBedirectingVoiceMailbox= lastBRedirectingReason=0

callType=1 {InBound) lineInstance=]l callReference=27173300. wversion: &5720013|1,100,150,
1.160"~10.1.5.1~%*

18:04:13.628 | 5taticonD: {(0000007) Setlamp mode=5, stim=9% stimInst=1.(1,100,150,1.160~10.1.5.1~%*
18:04:13.628 | 3tationD:(0000007) DEBUG- star D3etCallPhase updateACall=27173900 from Fhase=5
to callPhase=5.01,100,150,1.160~10.1.5.1~%

128:04:13.628 |LineControl::sendSNENotifyIndTorPresenceWithllerting
mPrecenceWithAlertingChangeNotifySubscribed=0,cal111istd4=111,100,150,1.160~10.1.5.1~%
18:04:13.62% |ScationD: (0000007) DEBUG- star_ DSetlallState(8) State of cdpc(78) is 0.1,
100,15%0,1.1640~10.1.5.1~%*

15:04:13.629 |StationD:{0000007) SetRinger ringMode=3 ({CutsideRing).
11,100,150,1.160~10.1.5.1~%*

18:04:13.629 |LineCdpc(82)call_received7 CcRegisterPartyB - # device responsed
mPFartyBSent = 0(1,100,150,1.160~10.1.5.1~%*

18:04:13.629 |LineControl{9): star_DSetlallState(2), State of cdpc (82) is
211,100,150,1.160~10.1.5.1~%

15:04:13.682%9 |Cdcc - (000009%&) - updateDchanCrp - secure capebility on 3ide 1 i3 (1,1)
|11,100,150,1.160~20.1.5.1~%*

15:04:13.629 |processCCMFeatureData: operationleldd=01,100,150,1.160~10.1.5.1"%
18:04:13.630 |ForwardManager - wait 3sExtendCallRes - mPartyTofctivelallIndexMap -
kdded Entry for Destparty= 27173900, callkey= 0xl1D|1,100,150,1.1&60~10.1.5.1~%
18:04:13.630 |ForwardManager - £indCallBySs2arty - Found entry for party= 27173839,
callkey= 0x1D |1,100,150,1.160~10.1.5.1~%

13:04:13.630 |ForwardManager - wait 3sDatalnd - Key= 0x0, party= 27173500,

CC= 4(1,100,150,1.160~10.1.5.1~%*

15:04:13.630 |ForwardManager - findCallByS3sZarty - Found entry for party= 27173900,
callkey= Ox1D |1,100,150,1.160~10.1.5.1~%*

18:04:13.630 |Forwarding - awaitingCallResponse 3sExtendCallBRes - DestParcy= 27173900,
callKey= 0x1D|1,100,150,1.160~10.1.5.1~%*

18:04:13.630 |Forwarding - awaitingCallResponse 35sDatalnd, BASTC CALL ALERTING,
preclvl=5|1,100,150,1.140~10.1.5.1~%*

15:04:13.630 |Forwarding - startCFNATimer (l2000) for line entry 2001 - callKey=
0xlD|1,100,150,1.160~10.1.5.1~%

Il
i
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18:04:13.633 |MECPHandler receiwed msg from: 10.1.5.1

200 317 OK
I: B

=0

c=IN IP4 10.1.111.1

m=audic 17528 RTB/LVE 0 100
a=rtpmap:100 X-HNSE/E2000
g=fmtp:100 19:-1594,200-202
g=K-agn:0

g=X-cap: 1 audic RIEB/AVE 100
g=K-cpar: a=rtpmap:100 X-NSE/8000

g=K-cpar: a=fmtp:100 192-194,200-202

g=K-cap: 2 imsge udptl t38
|1,100,1459,1.%889~10.1.5.1~%

18:04:13.633 |MECPHandler receiwed RESP header w/ transId= 317(1,100,14%5%,1.7885~10.1.5.1~%
18:04:13.633 |<MM::MGCPEndPoint><MV::350/500/051-0/1@HQ>11,100,1459,1.7889~+~30/500/D51-0QHY
18:04:13.633 |MECFHandler receiwed BRESF header w/ transld= 317 FOUND & match for

CRCX|1,100,14%,1.7889~10.1.5.1~50,/500/D51-0EHY
18:04:13.633 |MECPHandler recv CRCX Ack witk RTF PortHum:
1752811,100,149,1.7889~10.1.5.1~50/500,/D51-0@H]
18:04:13.634 |***Protocol::GetMaglyvpe () Tolsdn MagPtr (0x0bAb93fc) Offset((xlE) MagIype.

Octet[0] = 0x02 |*~n%
18:04:13.634 | |*~%n~w

o

I*A*A*

18:04:13.634 |IsdnMagDatad= 08 02

02 138

8:04:13.634 |[Out Message —-- PrifallProceedingMsg -- Protocol= PriEurcProtocol|®~*~%
B:04:13.634 [Ie - Q931ChannelldIe IEData= 18 03 A% 83 B1 |*~*~*
8:04:13.634 [MMan Id= 0. (iep= 0 dsl= 800C sapi= 0 ces= 0 IpRddr=105010a IpPort=2427)

03 A9 83 81 [*~*~%*

18:04:13.634 |MGCFBhHandler - Sending BhHdr: 0004 0000 0010 3000 0001 000Cs

11,100,150,1.160°10.1.5.1~*

18:04:13.634 |***Protocol::GetMaglyvpe () Tolsdn MagPtr (0x0bAb93fc) Offset((xlE) MagIype.

Ooctet[0] = 0x01
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|*A*A*

18:04:13.634 | |*~*~x

18:04:13.634 |Out Message -- PrillertingMsag -- Protocol= PriEurcProtocol|* %~*
18:04:13.634 |Ie - Q931ProgressIndle IEData= 1E 02 B0 B8 [*~%~%

18:04:13.634 |MMan Id= 0. (iep=0 dal= 8000 sapi=0 ces=0 IpRddr=105010a IpPort=2427) |*~*~*
18:04:13.6834 |IadnMsgDatad= 08 02 80 98 01 1E 02 B0 85 |#*~*~%

18:04:13.634 |MECEFEhHandler - Sending BhHdr: 0004 0000 0010 000 0001 00035
|11,100,150,1.140~10.1.5.1~%*

15:04:13.634 |MECPHandler send msg SUCCESSFULLY to: 10.1.5.1

RONT 318 50/5U0/D51-0/1R@HQ MECE 0.1

r 1

E: D/ [0-9ABCD*$]

S: G/rt

Q: process, loop

|11,100,150,1.140~10.1.5.1~%*

15:04:13.637 |MGCPHandler received mag from: 10.1.5.1

200 318 OK

|1,100,149,1.7890~10.1.5.1~%

128:04:13.637 |MGCPHandler receiwved RESP header w/ transId= 318]1,100,149,1.78390~10.1.5.1~%
18:04:13.637 |<MN::MGCPEndPoint>»<MV::50/500/051-0/10@H]>|1,100,149,1.7890~%~50,/500/D51-0@HQ
18:04:13.637 |MECPHandler receiwved RESP header w/ transId= 318 FOUND a match for
RQNT|1,100,149,1.7890~10.1.5.1~30/500/0D51-0@HQ

18:04:13.637 |MECPHandler recv RQNT Ack from 10.1.5.1101,100,14%,1.78%0~10.1.5.1~50/300/
DS1-0@HY

15:04:15.655 |MGCPBhHandler 10.1.5.1 - ICP mag available from Device|l,100,150,
1.161~10.1.5.1~%

18:04:15.655 |MzCPEBhHandler - Beceiving BhHdr: 0004 0000 0011 2000 0001 0009
|1,100,150,1.141~10.1.5.1~%*

12:04:15.655 | [#*~%~%

8:04:15.655 |[In Message -- PriDisconnectMsg —-- Protocol= PriEurcProtocol|®~®~*
18:04:15.6855 |Ie - Q931Causele —— IEData= 08 02 52 90 |[*~*~%

8:04:15.6855 [MMan Id= 0. (iep= 0 dsl= 8000 sapi= 0 ces= 0 IpRddr=105010a IpPort=2427) |*~*~*
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1
1
MessageTransCause.ieid = 0, PriTsp.protoccl = 9, MCStatus = 0| *~*~*

15:04:15.6855% |MGECPpn9cuser - sendCclisconnlnd, Q93lCause.cv:1lé, Cclisconnlnd.c.cw:lé|l,l100,
150,1.161~10.1.5.1%

15:04:15.6855 |Cdee::isStaticlransactionfpplicakle [1,100,150,1.161~10.1.5.1~*

128:04:15.655 |procesaCCMFeatureData: operationleldd=01,100,150,1.161~10.1.5.1"%
18:04:15.656 |ForwardManager - wait_S5sDatalnd - Key= 0x0, party= 271738%%, BCC= 611,100,150,
1.161~10.1.5.1~%

15:04:15.656 |ForwardManager - findCallByS3sParty - Found entry for party= 271738393,

callkey= Ox1D |1,100,150,1.161~10.1.5.1"*

18:04:15.656 |ConnectionManager - wait AulisconnectRequest ERROR:NO ENTRY FOUND IN
TARLE,CI{27173899,27173900) ,dcType=1, IFCreated(0,0),PID{0-0,0

-0} ,IFHandling{d, 0) ,MCHcd=(0,0)11,100,150,1.161~10.1.5.1~%*

18:04:15.656 |MatrixControl:updatePartyMediaCoordinatorNodeId:partyl widecolapable=0, party 2
videccapable=0(1,100,150,1.161~10.1.5.1%

18:04:15.6856 |Cdcc - (0000096) - resetMediaSecurity|l1l,100,150,1.161~10.1.5.1~%*

15:04:15.6568 |LineCdpc({82): -dispatchIcAllDevices-, sigName=CcDisconnBedq,
device=3EF0021A086BFO06|1,100,150,1.161~10.1.5.1~*

18:04:15.657 |LineControl TEST DEBUES: Mumber of entries in CallTakle iz = 1
11,100,150,1.161~10.1.5.1~%

:04:15.855 |[I=sdnMsgDatal= 08 02 00 98 45 08 02 82 90 |#*~*~%

o
8:04:15.655 |[SFROC analyzeMsgtransCause MessageTransCause.ms = 0,

128:04:15.657 |StationD: (0000007) DEBUG- star_DSetCallPhase updateRCall=27173900 from
Phase=5 to zallPhase=3.|1,100,150,1.161~10.1.5.1~%

18:04:15.657 |StaticnD: (0000007) DEBUG- star_ DSetCallState(l5) State of cdpc(78) is
g.11,100,150,1.161~10.1.5.1~%*

15:04:15.657 |StationD: {(0000007) Setlamp rode=1l, stim=9% stimInst=1.11,100,150,
1.161~10.1.5.1~%

15:04:15.657 |StationD: {(0000007) ClearProrptStatus linelnstance=l
callReference=27173900.11,100,150,1.161~10.1.5.1~%*

128:04:15.657 |StationD: {0000007) CallState callState=2 lineInstance=1
callReference=27173900 privacy=0 precedencelw=4 precedencelm=0[1,100,150,1.161~10.1.5.1"%
18:04:15.657 |StaticnD: {0000007) SelectScitKeys instance=0 reference=0 socftHeySetIndex=0
validKeyMask=££fffffff. (1,100,150,1.161~10.1.5.1~%*
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128:04:15.657 |StationD: {0000007) CallState callState=2 lineInstance=1
callReference=27173900 privacy=0 precedencelwv=4 precedencelm=0(1,100,150,1.161~10.1.5.1"%
18:04:15.657 |StaticnD: {(0000007) SelectScfitEe instance=0 reference=0 socitHeySetIndex=0
validKeyMask=f£fffffff. (1,100,150,1.161~10.1.5.1%*

15:04:15.657 |StationD: (0000007) DefineTimelate timeDatelnfo=3/24,/2010 1:£4:15,3
systemlime=1269392655./1,100,150,1.161~10.1.5.1~%

15:04:15.657 |StationD: (0000007) restartl DitopInd: No Linked 3tationCdpc.
11,100,150,1.161~10.1.5.1~*

128:04:15.657 |StationD: (0000007) INFO reatart0_DStopInd: Enable Newlall on lime=1
limit=4 1listSize=0|1,100,15%0,1.161~10.1.5.1"%

18:04:15.657 |StaticnD: (0000007) restart0 _DStopInd: DEBUG: StationCdpc(78) removed.

Calltakle contains ( calls.|l,100,150,1.161~10.1.5.1"*

15:04:15.658 |MGECPHandler send msg SUCCESSFULLY to: 10.1.5.1

DLCX 319 50/500/D51-0/1R@HQ MECE 0.1

C: DO0OOO0OO0019ea40b000000FSE80000098

I: B

r 1

5:

|100,150,1.161~10.1.5.1~+

15:04:15.6858 |LineCdpc{22)dispatchKeyBReleaseReq — mDevicePid (0, 0, 0); mSelectedDPid{0,0, 0},
mOnBehal £fOL (Device),

1g:(0)11,100,150,1.161~10.1.5.1~%*

18:04:15.658 |StaticonD: (0000007) SetBinger ringMode=l(Ring0ff).|1,100,150,1.161~10.1.5.1~%
18:04:15.658 |deletefi: Unable to find the device that owns the call with
CI=|1,100,150,1.161~10.1.5.1~%

18:04:15.658 |LineControl{9) - Belease call instance=1 for
CI=27173%0011,100,150,1.161~10.1.5.1~%

18:04:15.658 |LineContrel::sendSHFNotifyIndForPresenceWithllerting
mPrecenceWithAlertingChangeNotifySubscribed=0, calllist4=0(1,100,150,1.161~10.1.5.1~%
15:04:15.6858 |LineControl (9) - DStoplnd - Line become idle|1,100,15%0,1.161~10.1.5.1%*
15:04:15.6858 |LineControl{d) - 0 calls, 0 CiBeq, busyIrigger=Z,
maxCall=4]1,100,150,1.161~10.1.5.1~*

15:04:15.658 |processCCMFeatureData: operationleldd=01,100,150,1.161~10.1.5.1~%*
18:04:15.6858 |ForwardManager - walt_3sDatalnd - Key= 0x0, party= 27173800,

BCC= 711,100,150,1.161~10.1.5.1~%

18:04:15.658 |ForwardManager - f£indCallBy5sParty - Found entry for party= 27173800,
callkey= 0xl1D
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|11,100,150,1.161~10.1.5.1~%

18:04:15.658 |ForwardManager - wait_S5sDatalnd - BASIC CALL EELERSE -
mPartyIchctivelallIndexMap - Bemoved entry Destparty= 27173300, callkey= 0xlD
|1,100,150,1.161~10.1.5.1~%*

18:04:15.658
Deatination Release. party= 27173900, callKey= 0x1D|1,100,150,1.161-~10.1.5.1~*
12:04:15.658
12:04:15.675
250 319

F: F3=

15:04
104
104
104
104

e

[

[
[l R R R e

0,

:15.
:15.
:15.
:15.
:15.
,100,150,1

OK

| Forwarding - awaitingCallResponse 3sDatalnd - BASIC CALL RELERSE -

|Forwarding - stopCFNATimer - callKevy= Ox1D|1,100,150,1.161~10.1.5.1~%
|MzCPHandler received msg from: 10.1.5.1

03=0, FR=0, OB=0, FL=0, JI=0, L&=0
|11,100,14%,1.7891~10.1.5.1~%*

13:04:15.4875
13:04:15.875
13:04:15.875
return code: 250(1,100,149,1.7891~10.1.5.1~50/500/051-0RHY
12:04:15.875
MagType.Octet[0] = Oxdd |*~*~*

875
6875
875
8735
875

18:04:15.883
100,150,1.162~10.1.5.1~%
18:04:15.683
11,100,150,1
18:04:15.883

(=T R
~ oo oo

t04:15.6883
:04:15.683
:04:15.6583
:04:15.683
PriTsp.protoccol = 9,

|MzCPHandler received EESF header w/ transld= 31901,100,145%,1.7891~10.1.5.1"%*
| <MN: : MECPEndPoint><Mv: : 50/500,/051-0/10HQ>|1,100,149,1.7891~*~50,/500,/051-00HQ
|MzCPHandler received BEESP header w/ transld= 319 FOUND a match for DLCE,

| #***Protocol: :GetMagType () Tolsdn MsgPtr (0x0bAb83fc) Offiset (0x1E)

| I*A*A*

|Out Message -- PriEurcReleaseMsg —-- Protocol= FriEurcPFrotocol|®~®~*

|Mdan Id= 0. (iep=0 dsl=8000 sapi=0 ces=0 IpRddr=105010z IpPort=2427) |*~*~*
| IsdnMagDataZ= 05 02 80 98 4D |#*~*~%*

|MzCPBhHandler - Sending BhHdr: 0004 0000 0010 2000 0001 0005
.161~10.1.5.1~*

|MZCPBhHandler 10.1.5.1 - TCP msg availabkle from Dewvicell,

|MCPEhHandler - Beceiving BhHdr: 0004 0000 0011 8000 0001 0005
L162~10.1.5.1~*

| |*A*A*

|In Message -- PriReleaseCompleteMsg -- Protocol= PriEurcProtocol |*~%a*

|[MMan Id= 0. (iep=0 ds1=8000 sapi=0 cea=0 IphAddr=105010a IpPort=2427) |*~*~*

| IsdnMagDatal= 08 02 00 98 Sk |#r*~%

| SPROC analyzeMsgtransCause MessageTransCause.ms = 0, MessageTransCause.ieid =
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MCStatus = 0| *~%*n~%

18:04:15.6883 |Locations_releaseBandwidth -- cdoccPID=(1.19%4.36) no entry.|*~**
18:04:15.683 |ForwardManager - walt_3sDatalnd - Key= 0x0, party= 27173899,

BCC= 711,100,15%0,1.162~10.1.5.1~%

15:04:15.683 |ForwardManager - findCallBySsParty - Found entry for party= 271738439,
callkey= Ox1D |1,100,150,1.162~10.1.5.1~%

18:04:15.683 |ForwardManager - wait_5sDatalnd mInterceptTable - ERROR - No entry found for
Forwardkey= 0xC1DFF4, callkey= Ox1D |1,100,1%0,1.162+~10.1.5.1°%

18:04:15.683 |Forwarding - awaitingCallResponse S5aDatalnd - BASIC CALL RELEASE - Stopping
Forwarding on origination Release . party= 27173839, callKey= 0Ox1D(1,100,150,1.162-~10.1.35.1"%*
18:04:15.684 |ForwardManager - wait Forward3topInd - Stop Forwarding - PFid=(1,177,29),
callkey= Ox1D|1,100,150,1.162~10.1.5.1~%

15:04:15.684 |ForwardManager - removelctiveCallTableEntry - mPartyIochctivelalllndexMap -
Bemoved entry Origparty= 27173899, callkey= Ox1D [1,100,150,1.162~10.1.5.1~%*

18:04:15.684 |ForwardManager - removelctivelallTableEntry - mForwardictiveCallTakle -
Bemowved call entry for Origparty= 27173899, Destparty= 0, callkey= 0xl1D
|1,100,150,1.162~10.1.5.1~+%

18:04:15.684 |Forwarding - awaitingitoplonfirmation Forward3toplonf - callKey=
0Ox1D|1,100,150,1.162~10.1.5.1~%

158:04:15.684 |Forwarding - unregisterBelRejInterceptBequest - callKey=
Oxl1D|1,100,150,1.162~10.1.5.1~%

18:04:15.684 |Forwarding - unregisterBelRejInterceptRequest - Unregistered RelBRe] Intercept-
party= 27173899, callkey= 0x1D|1,100,150,1.162~10.1.5.1~%

15:04:15.6885 |remove an entry Lfrom release intercept gqueue given
33Type|1,100,150,1.162~10.1.5.1~%

18:04:18.464 |Cnf Received: processnodeservice U 83eeedci-flEa-4184-8b18-e9d7a9e08750,
3ize(1197) enakle(t/L£) |0,0,0,0,0n%~%

12:04:18.488 |CiCep table has 2 entriesll,100,150,1.159~10.1.5.1~%

18:04:18.507 |ProcessCnf N: processnodeservice U B3eee3cB-fl8a-4184-8b18-=29d47a29=0875k,
3ize(1197) enakle{t/f£) |0,0,0,0,0n%~%

15:04:18.507 |doGroupBeset: checking for group reset on takle processnodeservice
[0,0,0,0,0n%n*

15:04:18.507 |DbChangeblotify: :SendDbChangeProcesaContig|0,0,0,0,0%~%

15:04:18.523 |finish cnf on table processnodeservice|0,0,0,0.0°%~%
18:04:20.549 |-->SDIControl::ReadDatabase |[*~%~%

18:04:20.868 |<—-5SDIControl::ReadDatabase |[*~%*~%

18:04:20.868 |-—>5DIControlBase::Init {3edlbal) |[*~%*~%

If the caller ID that is displayed on the IP phone is 087071 222 and the HQ_cIng___pty_CSS contains the
HQ_cing_pty_Pt partition, which exhibit shows the correct gateway digit manipulation"?
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HE

— Incoming Calling Party Settings

If the administrator sets the prefix to Default this indicates call processing will use prefix at the next level
setting (DevicePool/Service Parameter), Otherwise, the walue configured is used as the prefix unless the
field is empty in which case there is no prefix assigned.

[ Clear Prefix Settings ][ Default Prefir Settings ]

Number Type Prefix StHp Digits Calling Search Space Use Device Pool C55
Mational Mumber +49 1] < None = w ]
International Murnber o+ 2 'HQ_clng_pty_C35 +| ¥l
Unknown Number Default 0 < Mong = v ]
Subscriber Mumber +939 | 1] < Mone = w ]

| M=

— Incoming Calling Party Settings

If the administrator sets the prefix to Default this indicates call processing will use prefix at the next level
setting (DevicePool/Service Parameter), Otherwise, the walue configured is used as the prefix unless the
field is empty in which case there is no prefix assigned.

|_ Clear Prefix Settings _][ Default Prefir Settings ]

Number Type Prefix StHp Digits Calling Search Space Use Device Pool C55
MWational Murnber +4a 0 < Mone = L ]
International Murnber o 0 HG _clng_pty_CS5S & ]
Unknown Mumber Default 0 < Maone = w ]
Subscriber Mumber +939 1] < Mone = w ]

HE

— Incoming Calling Party Settings

If the administrator sets the prefix to Default this indicates call processing will use prefix at the next level
setting (DevicePool/Service Parameter), Otherwise, the walue configured is used as the prefix unless the
field is empty in which case there is no prefix assigned.

[ Clear Prefix Settings ][ Default Prefir Settings ]

Number Type Prefix StHp Digits Calling Search Space Use Device Pool C55
Mational Murnber Cefault a .-{ Mane = b 4|
International Mumber Default 2 'HQ_clng_pty_css & ¥l
Unknown Number Default 0 < Mong = v 1
Subscriber Nurmber Default ' i < Mone > W ]
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HE

— Inconing Calling Party Settings

I_ Clear Prefix Settings

Default Prefir Settings

If the administrator sets the prefix to Default this indicates call processing will use prefix at the next level
setting (DevicePool/Service Parameter), Otherwise, the walue configured is used as the prefix unless the
field is empty in which case there is no prefix assigned.

Il

Number Type Prefix StHp Digits Calling Search Space Use Device Pool C55
Mational Mumber +49 o | [« Mone = W | ]
International Mumber o | = | < Mone = | ]
Unknown Mumber Default :|:| -;: Maone = v ]
Subscriber Mumber +939 1] < Mone = w ]
A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D
Answer: D

Explanation:

Actual incoming number is 14-087071 222 but next to this information in trace we can see two digits are
stripped which is international code hence D is valid answer.

5.When a database replication issue is suspected, which three tools can be used to check the database

replication status? (Choose three.)

A. Cisco Unified Communications Manager RTMT tool
B. Cisco Unified Communications Manager Serviceability interface

C. Cisco Unified Reporting

D. Cisco Unified Communications Manager CLI interface
E. Cisco IP Phone Device Stats from the Settings button

F. Cisco Unified OS Administration interface
Answer: A,C,D

Explanation:

Reference:

http://www.cisco.com/en/US/products/sw/voicesw/ps556/products_tech note09186a00809643e8.shtmi
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